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1. Hall-Heroult's process is given by :
gky gsjkWYV izØe fuEu esa ls fdlds }kjk fn;k tk;sxk\

(1) 2Al
2
O

3
 + 3C  4Al + 3 CO

2
(2) ZnO + C Coke,1673KZn + CO

(3) Cr
2
O

3
 + 2 Al  Al

2
O

3
 + 2Cr (4) Cu2+(aq) + H

2
(g)  Cu(s) + 2H+(aq)

A. 1

Question ID : 4165299367

Option 1 ID : 41652936927

Option 2 ID : 41652936928

Option 3 ID : 41652936929

Option 4 ID : 41652936926

Sol. Hall Heroult’s process is used in extraction of Al from Alumina.

Cathode : Al3+ + 3e–  Al

Anode : C + 2O2–  CO
2
 + 4e

2. The correct structure of product 'P' in the following reaction is :

3NEt

3 2
(excess)

Asn Ser (CH CO) O P  

fuEu vfHkfØ;k esa mRikn 'P' dh lgh lajpuk gSA

3NEt

3 2
( )

Asn Ser (CH CO) O P  
vkf/kD;

(1) H C3

O

N
H O

O

O

OH

OCOCH3

NH2
H
N

(2) H C3

O

N
H O

O

O

OH

OCOCH3

NHCOCH3

H
N

(3) H C3

O

N
H O

O

O

OH

OCOCH3

NHCOCH3

H
N

(4) H C3

O

N
H O

O

O

OH

OCOCH3

NH2

H
N

A. 1

Question ID : 4165299356

Option 1 ID : 41652936883

Option 2 ID : 41652936885

Option 3 ID : 41652936884

Option 4 ID : 41652936882
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Sol. Asn   NH
2
– C

||
O
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2
–
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2
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|
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|
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2
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|
C
|
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||
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|
COOH

 – CH
2
 – OH

           3 2Excess(CH CO) O

NH
2
– C

||
O

– 2

3

H
|

CH C
|

CH CONH

  – C
||
O

– NH –
2

H
|

CHC
|
COOH

 – O – CO – CH
3

3. Water filled in two glasses A and B have BOD values of 10 and 20, respectively. The correct statement
regarding them, is :

(1) A is suitable for drinking, whereas B is not. (2) A is more polluted than B.

(3) B is more polluted than A. (4) Both A and B are suitable for drinking.

nks fxyklksa A rFkk B ] esa Hkjs gq, ikuh ds BOD dk eku Øe'k%  10 rFkk  20 gSA lgh dFku dks igpkfu;s%

(1) A ihus ds fy, mi;qDr gS tcfd B ugha gSA (2) A, B dh rqyuk esa T;knk iznwf"kr gSA

(3) B, A dh rqyuk esa T;knk iznwf"kr gSA (4) A rFkk B, nksuksa gh ihus ds fy, mi;qDr gSaA

A. 3

Question ID : 4165299375

Option 1 ID : 41652936960

Option 2 ID : 41652936959

Option 3 ID : 41652936958

Option 4 ID : 41652936961

sol. As B.O.D. increase, level of pollution in water increases.

4. Wilkinson catalyst is :
foyfdUlu mRizsjd gS %

(1) [(Ph
3
P)

3
IrCl] (2) [(Et

3
P)

3
RhCl] (3) [(Ph

3
P)

3
RhCl] (Et = C

2
H

5
) (4) [(Et

2
P)

3
IrCl]

A. 3

Question ID : 4165299373

Option 1 ID : 41652936952

Option 2 ID : 41652936951

Option 3 ID : 41652936950
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Option 4 ID : 41652936953

sol. Wilkinson's catalyst is [Rh(PPh
3
)

3
]Cl

5. Consider the given plots for a reaction obeying Arrhenius equation (0°C < T < 300°C) : (k and E
a
 are rate

constant and activation energy, respectively)
vkgsZfu;l lehdj.k dks ekuus okyh ,d vfHkfØ;k ds fy, IykVksa ij fopkj dhft,  (0°C < T < 300°C), (k rFkk E

a
 Øe'k% nj fu;rkad

rFkk lfØ;.k ÅtkZ gSA

k

Ea
I

T(ºC)
II

k

Choose the correct option :

(1) Both I and II are correct (2) I is right but II is wrong

(3) I is wrong but II is right (4) Both I and II are wrong

lgh fodYi pqfu;s :

(1)  I rFkk  II nksuksa lgh gS (2) I lgh gS ijUrq  II xyr gS

(3) I xyr gS ijUrq  II lgh gS (4) I rFkk  II nksuksa xyr gS

A. 1

Question ID : 4165299384

Option 1 ID : 41652936994

Option 2 ID : 41652936996

Option 3 ID : 41652936997

Option 4 ID : 41652936995

sol. K = Ae–Ea/RT

So, as Ea increases, K decreases.

and as T increases, K increases.
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6. Which of the graphs shown below does not represent the relationship between incident light and the electron
ejected from metal surface?

(1) 

K.E. of
e s

0 Energy of
Light

(2) 

Number
of e s

0 Frequency of
Light

(3) 

K.E.
of e s

0 Intensity of
Light

(4) 

K.E.
of e s

0 Frequency of
Light

uhps iznf'kZr xzkQ esa ls dkSu&lk vkifrr izdk'k rFkk /kkrq i`"B ls fu"dkflr bysDVªkWu ds chp dk lEcU/k lgh <+ax ls ugh vfHkO;Dr djrk gS\

(1) 

e s dh 

xfrt

ÅtkZ

0 izdk'k dh ÅtkZ

(2) 

e s dh 

la[;k

0 izdk'k dh vkòfÙk

(3) 

e s dh 

xfrt

ÅtkZ

0 izdk'k dh rhozrk

(4) 

e s dh 

xfrt

ÅtkZ

0 izdk'k dh vkòfÙk

A. 4

Question ID : 4165299378

Option 1 ID : 41652936970

Option 2 ID : 41652936973

Option 3 ID : 41652936972

Option 4 ID : 41652936971

sol. hv
incident

 = hv
th
 + KE

KE = hv
incident 

– hv
th

KE is independent of intensity and number of photoelectrons does not depend on frequency of light.
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7. The total number of isomers for a square planar complex [M(F)(Cl)(SCN)(NO
2
)] is :

oxZ leryh ladj  [M(F)(Cl)(SCN)(NO
2
)]  ds fy;s leko;fo;ksa (vkblksejksa) dh dqy la[;k gksxh :

(1) 8 (2) 16 (3) 12 (4) 4

A. 3

Question ID : 4165299374

Option 1 ID : 41652936955

Option 2 ID : 41652936957

Option 3 ID : 41652936956

Option 4 ID : 41652936954

Sol. There are three isotopes of H out of which only tritium is radioactive.

8. The type of hybridisation and number of lone pair(s) of electrons of Xe in XeOF
4
 , respectively, are :

(1) sp3d2
 
and 2 (2) sp3d and 2 (3) sp3d and 1 (4) sp3d2 and 1

Xe OF
4
 es Xe ds ladj.k rFkk ,dkdh bysDVªkWu ;qXeksa dh la[;k Øe'k% gSa %

(1) sp3d2
 
rFkk 2 (2) sp3d rFkk 2 (3) sp3d rFkk 1 (4) sp3d2 rFkk 1

A. 4

Question ID : 4165299371

Option 1 ID : 41652936945

Option 2 ID : 41652936943

Option 3 ID : 41652936942

Option 4 ID : 41652936944

sol.
F

F F

F
O

Xe   , sp3d2, Lone pair = 1

9. The major product 'X' formed in the following reaction is :
fuEu vfHkfØ;k esa cuusokyk eq[; mRikn 'X' gSA

O
CH –C2    3– OCH

O

4NaBH

MeOH
x

(1) 

OH
CH CH2 2OH

(2) 

OH
CH –C –OCH2    3

O

(3) 
CH –C –H2    

O
O

(4) 

OH
CH CH2 2OH

A. 2

Question ID : 4165299360

Option 1 ID : 41652936901

Option 2 ID : 41652936900
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Option 3 ID : 41652936898

Option 4 ID : 41652936899

sol. NaBH
4
 selectively reduces the ketone, it does not affect alkene and ester.

CH – C – OCH2    3

O
O

CH – C – OCH2    3

O
OH

NaBH4

MeOH

10. A process had H = 200 J mol–1 and S = 40 JK–1mol–1. Out of the values given below, choose the minimum
temperature above which the process will be spontaneous :
,d izØe esa  H = 200 Jmol–1 rFkk  S = 40 JK–1mol–1 gSA uhps fn;s x;s vk¡dM+ksa esa ls ml fuEure rki dk pquko dfj;s ftlds Åij
izØe Lor% gksxk :

(1) 5 K (2) 4 K (3) 12 K (4) 20 K

A. 1

Question ID : 4165299380

Option 1 ID : 41652936979

Option 2 ID : 41652936981

Option 3 ID : 41652936978

Option 4 ID : 41652936980

sol.  H = 200 J mol–1

S = 40 JK–1 mol–1

For spontaneous reaction,

G < 0  H – TS < 0

H
T

S





T 
200

40
 5K

So, minimum temperature is 5 K

11. Which primitive unit cell has unequal edge lengths (a   b   c) and all axial angles different from 90°?

(1) Tetragonal (2) Hexagonal (3)Monoclinic (4)Triclinic

fdl vHkkT; ,dd dksf"Bdk esa vleku dksj yEckbZ  (a   b   c)  gksrh gS rFkk lHkh v{kh; dks.k  90° ls fHkUu gksrs gSa ?

(1) f}leyEck{k (2) "kVdks.kh; (3) ,durk{k (4) f=kurk{k

A. 4

Question ID : 4165299377

Option 1 ID : 41652936966

Option 2 ID : 41652936967

Option 3 ID : 41652936968
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Option 4 ID : 41652936969

sol.  For triclinic Crystal

a b  c  Axial distance

90  Axial angle

12. If dichloromethane (DCM) and water (H
2
O) are used for differential extraction, which one of the following

statements is correct?

(1) DCM and H
2
O would stay as upper and lower layer respectively in the separating funnel (S.F.)

(2) DCM and H
2
O will make turbid/colloidal mixture

(3) DCM and H
2
O would stay as lower and upper layer respectively in the S.F.

(4) DCM and H
2
O will be miscible clearly

;fn MkbZDyksjksesFksu (DCM) rFkk ty (H
2
O) dks vody fu"d"kZ.k esa iz;ksx fd;k tkrk gS rks fuEu esa ls dkSu lk dFku lgh gS\

(1) (DCM) rFkk (H
2
O) i`FkDdkjh Qusy esa Øe'k% Åijh rFkk fupys Hkkx esa :dsaxsaA

(2) (DCM) rFkk (H
2
O) ,d vkfoy@dksykbMh foy;u cuk;saxsA

(3) (DCM) rFkk (H
2
O) iF̀kDdkjh Qusy esa Øe'k% fuEu rFkk mPp lrgksa esa :dsaxsaA

(4) (DCM) rFkk (H
2
O) Li"V :i ls feJ.kh; gksaxsA

A. 3

Question ID : 4165299365

Option 1 ID : 41652936918

Option 2 ID : 41652936920

Option 3 ID : 41652936919

Option 4 ID : 41652936921

Sol. Density of dichloromethane is greater than water. So, DCM would be the lower layer and water will form the

upper layer in the separating funnel.

13. The values of  K
p
/K

c
 for the following reactions at 300K are, respectively : (At 300 K, RT = 24.62 dm3 atm

mol–1)
  300 K ij] fuEu vfHkfØ;kvksa ds fy, K

p
/K

c
 ds eku Øe'k% gksaxs %(300 K ij RT = 24.62 dm3 atm mol–1)

     2 2N g O g 2NO g 

   2 4 2N O g 2NO g

     2 2 3N g 3H g 2NH g 

(1) 1, 24.62 dm3 atm mol–1, 606.0 dm6 atm2 mol–2

(2) 1, 4.1 × 10–2 dm–3 atm–1 mol–1, 606.0 dm6 atm2 mol–2

(3) 606.0 dm6 atm2 mol–2, 1.65 × 10–3 dm3 atm–2 mol–1

(4) 1,24.62 dm3 atm mol–1, 1.65 × 10–3 dm–6 atm–2 mol2

A. 4

Question ID : 4165299382

Option 1 ID : 41652936987

Option 2 ID : 41652936989

Option 3 ID : 41652936986

Option 4 ID : 41652936988
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sol.
gnP

C

K
(RT)

K




2 2 gN (g) O (g) 2NO(g), n 0  

P

C

K
1

K


2 4 2 gN O (g) 2NO (g), n 1 

P

C

K
24.62

K


2 2 3 gN (g) 3H (g) 2NH (g), n 2   

3P
2

C

K 1
1.65 10

K (24.62)
  

14. Liquids A and B form an ideal solution in the entire composition range. At 350K, the vapor pressures of pure
A and Pure B are 7 × 103 Pa and 12 × 103Pa, respectively. The composition of the vapor in equilibrium with
a solution containing 40 mole percent of A at this temperature is :
nzo  A rFkk B iwjs la?kVu ds ijkl esa ,d vkn'kZ foy;u cukrs gSA 350 K ij 'kq)   A  dk ok"i nkc rFkkj 'kq) B dk ok"i nkc Øe'k%
7 × 103 Pa rFkk  12 × 103Pa gSA bl rki ij] ml ok"i dk la?kVu D;k gksxk tks A ds  40 eksy izfr'kr foy;u ds lkE; esa gS :

(1) x
A
 = 0.4; x

B
 = 0.6 (2) x

A
 = 0.28; x

B
 = 0.72

(3) x
A
 = 0.37; x

B
 = 0.63 (4) x

A
 = 0.76; x

B
 = 0.24

A. 2

Question ID : 4165299381

Option 1 ID : 41652936983

Option 2 ID : 41652936985

Option 3 ID : 41652936984

Option 4 ID : 41652936982

sol. P
A
° = 7 × 103

P
B
° = 12 × 103

X
A
 = 0.4

X
B
 = 0.6

 P = (7 × 0.4 + 12 × 0.6) × 103 = 104

P
A
 = 2.8 × 103, P

B
 = 7.2 × 103

Y
A
 = 0.28, Y

B
 = 0.72

15. The total number of isotopes of hydrogen and number of radioactive isotopes among them, respectively, are:

(1) 3 and 2 (2) 2 and 0 (3) 2 and 1 (4) 3 and 1

gkbMªkstu ds leLFkkfudksa dh dqy la[;k rFkk muesa jsfM;ks/kehZ leLFkkfudksa dh la[;k] Øe'k% gSa %

(1) 3 rFkk 2 (2) 2 rFkk 0 (3) 2 rFkk 1 (4) 3 rFkk 1
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A. 4

Question ID : 4165299369

Option 1 ID : 41652936937

Option 2 ID : 41652936936

Option 3 ID : 41652936934

Option 4 ID : 41652936935

sol. There are three isotopes of H out of which only tritium is radioactive.

16. A mixture of 100 m mol of Ca(OH)
2
 and 2g of sodium sulphate was dissolved in water and the volume was

made up to 100 mL. The mass of calcium sulphate formed and the concentration of OH– in resulting solution,
respectively, are : (Molar mass of Ca(OH)

2
, Na

2
SO

4
 and CaSO

4
 are 74, 143 and 136g mol–1, respectively;

K
sp

 of Ca(OH)
2
 is 5.5 × 10–6)

100 m  mol of Ca(OH)
2
 rFkk 2 g lksfM;e lYQsV ds ,d feJ.k dks ty esa ?kksydj mldk vk;ru 100 mL rd fd;k x;kA cus gq,

foy;u esa dSfY'k;e lYQsV dk nzO;eku rFkk  OH–  dh lkUnzrk Øe'k% gSa] (Ca(OH)
2
, Na

2
SO

4
 rFkk CaSO

4
 ds eksyj nzO;eku gSaj

Øe'k% 74, 143 rFkk 136 g mol–1, K
sp

 dk Ca(OH)
2
 is 5.5 × 10–6)

(1) 13.6 g, 0.14 mol L–1 (2) 1.9 g, 0.14 mol L–1

(3) 13.6g, 0.28 mol L–1 (4) 1.9 g, 0.28 mol L–1

A. 4

Question ID : 4165299376

Option 1 ID : 41652936964

Option 2 ID : 41652936963

Option 3 ID : 41652936962

Option 4 ID : 41652936965

sol. Na
2
SO

4
 + Ca(OH)

2
  CaSO

4
 + 2NaOH

mmol of  Na
2
SO

4
 = 

2 1000

143


  13.98 m Mol

mmol of CaSO
4
 formed = 13.98 m Mol

Mass of CaSO
4
 formed = 13.98 × 10–3 × 136 = 1.90 g

mmol of NaOH = 28 mmol

Ca(OH)
2
   Ca2+ + OH–

                        S      2S+0.28

Value of ‘S’ will be negligible so [OH–] = 0.028/0.1 =  0.28mol L–1

17. Which dicarboxylic acid in presence of a dehydrating agent is least reactive to give an anhydride?
fuEu esa ls dkSu MkbdkcksZfDlfyd vEy futZyhdkjd dh mifLFkfr esa ,d ,sugkbMªkbM nsus ds fy, lcls de vfHkfØ;k'khy gS\

(1) 

CH2

CH2

CH2

CH2

COOH

COOH
(2) 

CO H2

CO H2
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(3) 

COOH

COOH

(4) 

C

O

CH2 OH

CH2
OH

C

O

A. 1

Question ID : 4165299359

Option 1 ID : 41652936896

Option 2 ID : 41652936897

Option 3 ID : 41652936895

Option 4 ID : 41652936894

sol.

CH2

CH2

CH2

CH2

COOH

COOH
(dehydrating agent)



O

O

O

(7 membered cyclic 
anhydride (very unstable)

+ CO  + H O2 2

CH2

CH2

CH2

CH2

COOH

COOH

  
   

O

 + CO
2
 + H

2
O

This compound does not form anhydride.

18. The electronegativity of aluminium is similar to :

(1) Beryllium (2) Carbon (3) Boron (4) Lithium

,Y;wfefu;e dh fo|qr _.kkRedrk fuEu esa ls ftlds leku gS og gSA

(1) csjhfy;e (2) dkcZu (3) cksjku (4) yhfFk;e

A. 1

Question ID : 4165299366

Option 1 ID : 41652936924

Option 2 ID : 41652936923

Option 3 ID : 41652936925

Option 4 ID : 41652936922

Sol. Be and Al show diagonal relationship.

19. The increasing order of the pKa values of the following compounds is :
fuEu ;kSfxdksa ds pKa dk c<+rk gqvk Øe gS]
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OH OH OH OH

NO2 OMe
NO2

(A) (B) (C) (D)

(1) C < B < A < D (2) B < C < D < A (3) D < A < C < B (4) B <  C < A < D

A. 4

Question ID : 4165299361

Option 1 ID : 41652936904

Option 2 ID : 41652936905

Option 3 ID : 41652936902

Option 4 ID : 41652936903

Sol. Acidic strength

OHOH OH OH

NO2 OMe
NO2

(A)(B) (C) (D)

> > >

   pK
a
 : B < C < A < D

20. The effect of lanthanoid contraction in the lanthanoid series of elements by and large means :

(1) increase in both atomic and ionic radii

(2)decrease in atomic radii and increase in ionic radii

(3) increase in atomic radii and decrease in ionic radii

(4) decrease in both atomic and ionic radii

rRoksa ds ySUFksukbM J`a[kyk esa ySUFksukbM ladqpu lkekU;r;k n'kkZrk gS %

(1) ijek.kqd rFkk vk;fud f=kT;kvksa nksuksa dk c<+uk

(2) ijek.kqd f=kT;kvksa dk ?kVuk rFkk vk;fud f=kT;kvksa dk c<+uk

(3) ijek.kqd f=kT;kvksa dk c<+uk rFkk vk;fud f=kT;kvksa dk ?kVuk

(4) ijek.kqd rFkk vk;fud f=kT;kvksa nksuksa dk ?kVuk

A. 4

Question ID : 4165299372

Option 1 ID : 41652936949

Option 2 ID : 41652936948

Option 3 ID : 41652936947
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Option 4 ID : 41652936946

sol. Due to lanthanoid contraction, size of atom as well as ion of lanthanoid decrease gradually in the lanthanoid
series.

21. Two pi and half sigma bonds are present in :
nks ikbZ rFkk vk/kk flXek vkcU/k fuEu esa ls fdlesa mifLFkr gSa\

(1) N
2

+ (2) N
2

(3) O
2

(4) O+
2

A. 1

Question ID : 4165299379

Option 1 ID : 41652936977

Option 2 ID : 41652936975

Option 3 ID : 41652936976

Option 4 ID : 41652936974

sol. 2 2 2 2 2 2 1
1s 1s 2s 2s 2p 2p 2p2 y x zN * *          

B.O. 2.5 = 2 bond + 0.5 bond

22. The major product formed in the reaction given below will be :
uhps nh xbZ vfHkfØ;k esa cuus okyk eq[; mRikn gksxk %

NH2 2NaNO

Aq.HCl,0 – 5 C

(1) 

NO2

(2) 
NO2

(3) 
OH

(4) 

OH

A.

Question ID : 4165299357

Option 1 ID : 41652936888

Option 2 ID : 41652936886

Option 3 ID : 41652936887

Option 4 ID : 41652936889

BONUS

sol. NaNO2

aqHCl
NH2 CH2



ring expansion

OH


23. Consider the following reduction processes :
fuEu vip;u izØeksa ij fopkj dhft,
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2Zn 2e Zn(s);Eº 0.76 V    

2Ca 2e Ca(s);Eº 2.87 V    

2Mg 2e Mg(s);Eº 2.36 V    

2Ni 2e Ni(s);Eº 0.25V    

The reducing power of the metals increases in the order :

/kkrqvksa dh vipk;d lkeF;Z bl Øe esa c<+sxh %

(1) Ca < Mg < Zn <  Ni (2) Ca < Zn < Mg < Ni

(3) Zn < Mg <  Ni < Ca (4) Ni < Zn < Mg < Ca

A. 4

Question ID : 4165299383

Option 1 ID : 41652936991

Option 2 ID : 41652936990

Option 3 ID : 41652936993

Option 4 ID : 41652936992

sol. As Eº
M/M2+  increases, reducing power increases.

Eº
Zn/Zn2+ = 0.76 V

Eº
Ca/Ca2+ = 2.87 V

Eº
Mg/Mg2+ = 2.36 V

Eº
Ni/Ni2+= 0.25 V

Ca > Mg > Zn > Ni
24. Which of the following is not an example of heterogeneous catalytic reaction?

(1) Hydrogenation of vegetable oils (2) Combustion of coal

(3) Ostwald's process (4) Haber's process

fuEu esa ls dkSu fo"kekaxh mRizsjdh; vfHkfØ;k dk mnkgj.k ugha gS\

(1) ouLifr rsyksa dk gkbMªkstuhdj.k (2) dks;ys dk ngu

(3) vksLVokYM izØe (4) gScj izØe

A. 2

Question ID : 4165299385

Option 1 ID : 41652937000

Option 2 ID : 41652936999

Option 3 ID : 41652937001

Option 4 ID : 41652936998

sol. The catalytic process in which the reactants and the catalyst are in different phases is known as heterogeneous

catalysis

C + O
2 
 –– CO

2
No catalyst

vegetable oil (l) + H
2
(g) Ni(s) vegetable ghee (s)

Ostwald process :

4NH
3
(g) + 5O

2
(g) Pt/Rh(s) 4NO(g) + 6H

2
O(g)

Haber’s process

N
2
 + (g) + 3H

2 
(g) Fe(s) 2NH

3
(g)

25. The major product of the following reaction is :
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fuEu vfHkfØ;k dk eq[; mRikn gS %

Br

Ph

Br

KOH alc (excess)




(1) 
Ph

(2) 
Ph

(3) 
Ph

(4) 

Ph

A. 2

Question ID : 4165299364

Option 1 ID : 41652936917

Option 2 ID : 41652936915

Option 3 ID : 41652936914

Option 4 ID : 41652936916

sol. Example of E
2
 elimination and conjugated diene is formed with phenyl ring in conjugation which makes it very

stable

Br

Ph

Br

 
KOH alc (excess)


  

Ph

26. The metal used for making X-ray tube window is :
X-fdj.k uyh ds okrk;u dks cukus ds fy, iz;qDr /kkrq gS %

(1) Be (2) Na (3) Mg (4) Ca

A. 1

Question ID : 4165299370

Option 1 ID : 41652936941

Option 2 ID : 41652936940

Option 3 ID : 41652936938

Option 4 ID : 41652936939

Sol. Be is used in making X-ray tube windows.

27. The chemical nature of hydrogen peroxide is :

(1) Oxidising agent in acidic medium, but not in basic medium.

(2) Reducing agent in basic medium, but not in acidic medium.

(3) Oxidising and reducing agent in both acidic and basic medium.

(4) Oxidising and reducing agent in acidic medium, but not in basic medium.

gkbMªkstu ijkDlkbM dh jklk;fud izdf̀r gS :

(1) vEyh; ek/;e esa mipk;d ds :i esa] ysfdu  {kkjh; ek/;e esa ugha
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(2) {kkjh; ek/;e esa vipk;d ds :i esa] ysfdu  vEyh; ek/;e esa ugha

(3) vEyh; rFkk  {kkjh; nksuksa ek/;e esa mipk;d rFkk vipk;d ds :i esa]

(4) vEyh; ek/;e esa mipk;d rFkk vipk;d ds :i esa] ijUrq {kkjh; ek/;e esa ugha

A. 3

Question ID : 4165299368

Option 1 ID : 41652936930

Option 2 ID : 41652936931

Option 3 ID : 41652936933

Option 4 ID : 41652936932

sol. H
2
O

2
 can act as both oxidising as well as reducing agent in both acidic as well as basic medium

28. The decreasing order of ease of alkaline hydrolysis for the following esters is
fuEu ,LVjksa ds fy, {kkjh; ty vi?kVu ds vklkuh ls gksus dk ?kVrk Øe gS]

(I) COOC H2 5 (II) COOC H2 5Cl

(III) COOC H2 5O N2 (IV) COOC H2 5CH O3

(1) II >  III > I > IV (2) IV > II > III > I (3) III > II > IV > I (4) III > II > I >IV

A. 4

Question ID : 4165299358

Option 1 ID : 41652936891

Option 2 ID : 41652936893

Option 3 ID : 41652936890

Option 4 ID : 41652936892

Sol. Rate of reaction  positive charge on carbonyl carbon so E.W.G. increase rate while E.D.G. decrease the rate.

O N2 C – OC H > Cl2 5    COOC H2 5

O
III          >                   II         >

COOC H  > MeO2 5 COOC H2 5

  I                     >                      II

29. Which hydrogen in compound (E) is easily replaceable during bromination reaction in presence of light?
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3 2 2CH CH CH CH

(E)

  
   

(1) - hydrogen (2) - hydrogen (3) - hydrogen (4) - hydrogen

;kSfxd (E) esa izdk'k dh mifLFkfr esa czksehus'ku vfHkfØ;k ds chp dkSu gkbMªkstu vklkuh ls foLFkkfir fd;k tk ldrk gS\

(1) - gkbMªkstu (2) - gkbMªkstu (3) - gkbMªkstu (4) - gkbMªkstu

A. 3

Question ID : 4165299363

Option 1 ID : 41652936913

Option 2 ID : 41652936910

Option 3 ID : 41652936912

Option 4 ID : 41652936911

sol. CH
3
 – CH

2
 – CH = CH

2
 + Br

2
 hCH

3
 – CH

|
Br

– CH = CH
2

30. The major product of the following reaction is :
fuEu vfHkfØ;k dk eq[; mRikn gS %

(i) AlCl  (anhyd.)3

(ii) H O2

CH O3 CH Cl2

(1) 

CH O3

CH3

(2) 
CH3O

(3) 

OCH3

CH3

(4) 

CH3O

A. 4

Question ID : 4165299362

Option 1 ID : 41652936909

Option 2 ID : 41652936906

Option 3 ID : 41652936907

Option 4 ID : 41652936908
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sol. MeO
CH –Cl2

MeO MeO

MeO

AlCl3


